
Number S3CR/QTY. DESCRIPTION
BF610B 1 NITRO PLUS CR BACKFRAME
HB603 2 HANDLEBAR
BSF603B 1 NITRO PLUS CR BASEFRAME
LK653 1 NITRO PLUS CR LINKAGE
MA630B 1 NITRO PLUS CR MOVEMENT ARM
04-5214 2 ½" Internal Loc Washer
04-5213 8 3/8" Internal Loc Washer
06-8263 2 Snap Ring, Internal, 1 9/16" 
02-2290 2 ¼ -20 UNC THREAD x 1" LENGTH FLAT HEAD SOCKET 

CAP SCREW
02-2055 4 SCREW, SET, ¼ -28 UNF x ¼
01-2220 1 5/8-11 UNC x 4½ Bolt 
01-1490 3 5/8-11 UNC x 2 Bolt
01-0011 2 ½  -13 UNC x 3 Bolt
01-1321 1 ½  -13 UNC x 2½ Bolt
01-1381 1 ½  -13 UNC x 4 Bolt
01-1151 1 3/8 -16 UNC x 2¾ Bolt
01-1090 4 3/8 -16 UNC x 1¼ Bolt
01-4035 2 ¼  -20 UNC x 1¼ Wiz Lock Bolt
01-4030 4 ¼  -20 UNC x 1 Wiz Lock Bolt
01-2190 2 5/8-11 UNC x 3 Bolt
02-9071 3 3/8 -16 UNC x 3¾ Bolt
03-1067 3 5/8" Lock Nut
03-1055 4 1/2" Lock Nut
03-1035 4 3/8" Lock Nut
01-4038 2 BUTTON HEAD SOCKET CAP SCREW, ½ -13 x 2 ½''
UP9185 1 BACK PAD
07-9990 1 Weight Stack Shield Assy
09-5045 4 NITRO SERIES MOLDED FOOTPAD
12-5556 1 FRONT PLACARD S3CR  (NEW LOGO)
12-5557 1 S3 SPO FRONT PLACARD  (NEW LOGO)
48-1095 1 TREAD STRIP ARMOR
OPT-AW 1 Add On Weight Assembly
OPT-WT-04 1 WEIGHTSTACK ASSEMBLY #04
19-1575 4 desc
06-9035 2 5/8-18 RH
07-9607 6 MOLDED BEARING CUP
03-4035 6 1/4-20 INSERT  11/16" LONG
01-2286 2 5/8-11 X 6 3/8 HH5 BOLT (PLATED)
03-5119 2 5/8" RH Fine Thread Jam Nut
06-5045 1 NYLON BELT ROLLER
06-8166 2 SNAP RING EXTERNAL
07-5064 4 6203 RADIAL BEARING
07-8363 4 IDLER PULLEY SPACER
07-8359 4 IDLER PULLEY SPACER
07-8982 1 STRAP CLAMP END (5/16 HOLES)
07-9889 2 SHEETMETAL SHIELD
07-9410 1 NITRO CR BRACE
07-9411 2 NITRO CR DRAG LINK
07-9610 2 LINKAGE BUSHING
07-9771 4 IDLER PULLEY SPACER

Number S3CR/QTY. DESCRIPTION
07-9775 2 BEARING SLEEVE
07-9877 1 NITRO PLUS CR CONTROL LINK
08-2053 2 Movement Arm Hub Spacer
09-1023 2 HAND GRIP OPEN ENDS
09-9535 2 GRIP RING 1.045 ID (FOR 1" BAR)
09-2040 2 1 1/2 X 2  11 GA FRAME PLUG
09-2070 4 2 X 2 11 GA FRAME PLUG
09-2090 2 2 X 3 X 11 GA FRAME PLUG
09-3055 1 2 X 4 11 GA FRAME PLUG
09-4071 1 VINYL CHANNEL STOP
09-4092 1 BUMPER
09-7065 2 NYLON STOP
09-8018 2 GUIDE ROD BUSHING
09-8172 2 1 3/4 DIA HOLE PLUG
09-9505 2 GRIP CAP 1.030 ID (FOR 1"  BAR)
09-8329 2 WIDE PULLEY 3" DIA
09-8330 2 REDIRECTIONAL PULLEY 4"
09-9590 2 TUBE INSERT .760 ID PN3043-4-1
14-6086 2 Foot Pad
17-1465 2 GUIDE ROD
19-1015 16 2" Square Duo-Loc
19-1342 4 2" ROUND ZINC PLATED
24-6035 
CR 142" 1 ---
24-6035 
CR 142" 1 ---
19-1014 2 2" DOUBLE SIDED FOAM TAPE
12-5611 1 Standard Nautilus Transfer Decal
12-1026 2 KEEP HANDS AWAY
12-1164 1 WARNING DECAL, MINI WEIGHT SELECTOR PIN
12-1380 1 MADE IN USA

Compound Row
Parts ListDate: 02/13/07

S3CR

https://www.gympart.com/itemdesc.aspx?ic=NTS1245&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10026&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST11753&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10170&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1617&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1389&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1472&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1059&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1136&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1514&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1078&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1097&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1385&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PBC03&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1087&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STS1832&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1595&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STS1549&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1077&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STS1487&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1129&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1130&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1131&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1499&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1125&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STB1169&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1159&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1011&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1497&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1121&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1056&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1255&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STS1863&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10883&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STS1482&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STS1542&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10427&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1386&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1822&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1085&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1019&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1019&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NP1006&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams


07-9889

07-9889
09-8330

LK623
Teflon Grey

07-8363
07-8363

BF610B

07-9411

07-9877

LK653

MA630B

07-9410

BSF603B

HB603

07-8363

09-8330

09-8329

09-8329

07-835909-4071

07-9607

07-9771

07-9771

07-9607

07-961006-8166

07-9775

07-9775

02-2290
09-9505

09-9590

09-1023

09-9535

07-5064

06-8263

08-2053

08-2053

14-6086

01-2286

07-8359
06-5045

09-7065

09-7065

12-5557 (DECAL)

12-5556 (DECAL)

UP9185

09-5045
09-5045

07-9990
09-5045

06-9035
19-1342

OPT-AW
Black or

Grey

07-8982
Black (2)

19-1015

01-0011
01-1151

01-2190

01-4035

03-4035 01-1321

01-001109-2040

03-1055

03-1035

02-9071

03-4035

01-1381 09-2040

03-1035

03-1067

03-1055

09-2070

09-3055

09-2090

09-4092

09-2070
03-1067

01-1490

01-2220

01-2190

19-1342
09-2090

09-8172
01-1490

01-403819-1015

19-1015

01-4038

03-1055

19-1014

48-1095

19-5953

24-6035 CR 142"
OPT-AW

02-2055

01-1090

04-5213

03-5119

03-5119

04-5213

04-5213

04-5213 04-5214

01-4030

09-5045

09-8018

07-9771

02-2290
09-9505
09-9590

02-2055

09-9535

09-1023

07-5064

06-8263

01-1490

09-8172
12-5611

12-1026

12-1380

12-1164

RED: PAINTED ITEMS

22 1/2" LONG

____ Trollies / Machine

COMPOUND ROW
Parts Diagram

Nautilus Nitro 

Last Rev Date: 9/19/05

S3CR

https://www.gympart.com/itemdesc.aspx?ic=NTS1245&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1245&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10026&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST11753&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10170&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1617&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1617&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1389&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1389&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1472&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1472&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1059&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1059&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1059&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1059&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1136&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1514&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1078&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1097&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1097&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1385&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1385&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PBC03&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PBC03&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1087&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1087&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STS1832&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STS1832&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1595&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1595&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1595&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STS1549&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1077&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1077&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STS1487&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1129&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1129&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1129&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1130&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1130&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1131&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1131&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1499&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1499&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1125&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STB1169&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1159&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1159&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1159&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1159&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1011&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1497&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1497&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1121&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1121&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1056&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1056&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1255&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1255&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STS1863&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STS1863&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10883&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10883&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STS1482&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STS1542&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10427&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1386&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1019&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NP1006&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NP1006&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams

	S5CR BOMP
	Drawing View20

	S5CR Parts Manual
	Drawing View4
	Drawing View5

	S3CR BOMP
	Drawing View19

	S3CR Parts Manual
	Drawing View17
	Drawing View18




